
Brachiocephalic vein (right and left)

Formation : By union internal jugular and subclavian veins . 
Beginning : Posterior to the sternoclavicular joint .
Termination : 1st right costal cartilage.
Both right and left Brachiocephalic veins joined together
to form superior venae cava.

        N.B : The left Brachiocephalic vein is longer than the right

Brachiocephalic vein WHY ??

 Formation : By union the right and left Brachiocephalic 

veins.
Beginning : 1st right costal cartilage.
Termination : 3rd right costal cartilage as it enters the 
right atrium of the heart.

Beginning : Right border of sternum at 2nd right costal 
cartilage 
Termination: Lower border 4th thoracic vertebra
by becoming the thoracic (descending) aorta
Course:
It arches superiorly, posteriorly and to the left, and 
then inferiorly.
The arch ascends anterior to the right pulmonary 
artery and the bifurcation of the trachea.
It passes over the root of the left lung to become at 
the left side of the trachea and esophagus

N.B The ligamentum arteriosum :
it is the remnant of the fetal ductus arteriosus.
It passes from the root of the left pulmonary artery to 
the inferior surface of the
arch of the aorta
  



Passes on the right side of the trachea ,then posterior to the right 
brachiocephalic vein, SVC
It contributes to Rt. pulmonary, esophageal and cardiac plexuses.
It gives right recurrent laryngeal nerve ,which hooks around the right 
subclavian artery and ascends between the trachea and esophagus to 
supply the larynx.

It enters the mediastinum between the left common carotid artery and left 
subclavian artery.
It gives left recurrent laryngeal nerve which hooks around the arch of the 
aorta, lateral to the ligamentum arteriosum, and ascends in the groove 
between the trachea and the esophagus to supply the larynx

passes along the right side 
of the right brachiocephalic 
vein, SVC, and the 
pericardium over the right 
atrium and descends on the 
right side of the IVC to 
passes through caval 
opening of the diaphragm.

It crosses the left 
vagus ,then ,it runs along 
the fibrous pericardium , 
the left atrium and 
ventricle of the heart.
It pierces the diaphragm 
to the left of the 
pericardium




